BAE 1S (GE25ER)

7] =l B xr B3 7
ZREBPITERE)BEE Liil
£ £ £ £ £ &
BLER 470 2 &E RER o \EBIR SELERD
BIBFS 24 i HEZ b 74
BB E % EE &
THEER A= 22590 m
Fbih S A= 10450 m
it K EXRA N= 495 7K
kB N= 530 &
TA A= 1575
AimmEiE A= 36,700 m
SokutERR N= 6 &
XPEIH 38H25A
] B i3] I £ BB T =B Ed B £ &
#Z T £ A A
AT HEXIIEEEE
T ES fif i A !
BAERBREXTIIEHE
H OB O OM & % A !
B A xR % & m m
EERBERACEL  rErsmm-zEmsTsmexmars CSIEOFARER
ZHREE T EMmE x FEakE = EHE T EMmE
M M




2BNEBIR BEEERER MERE No.1
Z B I & & Al # B8 H = BAGL B %8 i I
BEiEE

RifiR 1 5

MR TR EZMY F£3[E 2259000 mf
‘ | Rifik 2 &

HEWRE 1 (B8 FE3[E 25000 m
I ik 3 =

BHBRED (WP X+ B8t |FE3E 10,200.00 m
R 4 5

TARMA F1[E 1575.000 m
i =

TRHAKRE E£3[H 1575.00| mi
KA 6 5

JIS—TSMA FEAMY) 1 10.00] mi
RifiE 75

BREITE (/N AHY) FE 20 6.00 &
K% 8 5

EBIE F1[H 30.00] &
K& 9 5

CERMRE(AAR) £1[E| 2259000 mf
I ik 10 2

T ERERIESA F 200 22,590.00] m
I ik 11 2

mERMR ERA £1[g 49500 &
I ik 12 2

mERMER EAB £1[g 53000 &
I ik 13 2

RERER TA F2[H 1575.00| m
Rtk 14 5

RARAHBERR EXRA £1[g 49500 &
Rt 15 5

RARA AR EXRB £1[g 53000 &
Rtk 16 5

EEERE £ 36,700.00| i




2BNEBIR EEEHER MERE

No.2
% H I & & Al M B8 B = B B & % B =
Rk 17 5
EEWES T (HILET) F1[E 2,500.00] #
Rk 18 &
EEHET T GEREY) F1[E 700.00| %
Rk 19 5
£kuiERE FE 20 6.00| 5T
EEE
£ %
Y
EZ ity =
SHETRHLEE
EBEIEH




K =




£ 1 5
NETAN K Z ALY NE7 7cnifl 1,0000 n2 HY — 5 K i =X
£ G 3 % B 4 B = B fiff & %8 it
LEEER A
UL NETAVR-Z - XiE77cm =] Kz 25 i)
b4 LER - EHEE2uE H RIEE 260 BSE
0.12kg/n?
nn & N EL kg 120.000
R A = 1.000
&t
— B8y
T | 5 =)




Parad

2 =

HWHIRE 1 (F#H) BRE &5 HAH - Eil 1000 n2 HY — 1 K fi *
g4 4 ) ® B4 =2 B i & %8 i %
T AR—ARHEER A
el ES] A
TREXS A
BEXES A
BN Bz - hys—E255m =|
299 TR EHE SR B RffizE 27 BSSH
EME =X 1.000
0.24kg/n2
no& ME kg 240.000
it
—Hif 4y
mEm | 2 2B




£ 3 =

wHRE IR BRE SRR HAK Bk 10000 n2 #HY — 1 K ffi =*F

% FR ) % B Of = B (i s %8 1% %=
AR — M HEER A
IR IEES A
LTEEES A
BIEXR A
BN Bz - hys—E255m =|
B L NUNDAN S - /39 % B - WIIE95cm H
b797 TER-EHEE2E B P RifiE 27 S8
EME 2 1.000

0.16keg/m2
no& ME kg 160.000
&t
—Hif 4y

MiET | % 3

Jjn




5 4 B
TARNA H=1.5nek i 1000 nm2 Y — {1 K ffi =
£ 1 R B = B i & 8 1 E:3
EET
LTBEXE
VDY, L¥ 25— L 1.200
Fi-vY- #% £.500mm AR
f7v )& i 2t = Kifi%E 20 S8
0.48kg/n?
nngE M E ke 48.000
=M 7 =X 1.000
&t
—HfSyY
mEn | 4 0B




£ 5 5
TARAKRE 1000 n2 &Y — {1 K i *x
£ G 3 B = B fiff & %8 it =
BiEXB A
b4 LER - EHEE2uE RIEE 260 BB
0.08kg/n?
N b kg 8.000
&t
— B8y
#HER [ 5 0B




N=TFN5AGFENY ) H=2.5m E 1000 n2 &Y — {1 K i *x
£ G 3 B = B fiff & %8 it =

EET A

LEEER A

b7y E 2t = RIFHE 20 BSE
0.16kg/n?

nn & BER kg 16.000

R A = 1.000

&t
— B8y

HER [ 6 &




BEE E#k# 60cmil E90cnk i 100 X &Y — 1 K i *x
£ G 3 % B 4 = B fiff & %8 it =

EET A

LEEER A

b7y E 2t = RIFHE 20 BSE
20kg/ A

nn & BER kg 200.000

R A = 1.000

&t
— B8y

T | 5 7 B




BB EZER 60cmil k£ 90cnik i 100 X &Y — 1 K i *x
£ G 3 % B 4 = B fiff & %8 it =

EET A

LEEER A

b7y E 2t = RIFHE 20 BSE
20kg/ A

nn & BER kg 200.000

R A = 1.000

&t
— B8y

#HER [ 8 &




£ 9 =

ZEHIE(A )

1000 nm2 % U

fu K fli X

% ]

) 1%

B

Gl

B

i

oo

Ay

£

i

HUKIERUES H0515 BEMAER 60a/n?

kg

6.000

—HfuZy

oy

Jjn




£ 10 B

2 4 R EFE 1000 n2 Y — & K fi F

g4 4 ) % B Of = B i & %8 i %
EET
TEEES
b597 LA EHEE U KRifiE 26 SSE
PREH| T-Y'7vRE%E 20065 &R L 1.000
PREH| Y 4hA7IVREIZE 50015 IR L 0.400
EME IEEREFORM-BHE { 1.000

&t
—Hif 4y

HiET 10

#

Jjn




g 11 B
A= R ERA #[EY 30cmR i 10 & &55Y — 1 K fi *
% i 5i) ® B & % =2 B fif & 8 i 3
i R E AR A3FHY L 1.200 KRifigg 21 SS@
it
— By 1)
wET | F 5




g 12 5
A= R E£ARB #MEY 30cmLl L 10 & &55Y — 1 K fi *
% i 5i) ® B & % =2 B fif & 8 i 3
i R E AR A3FHY L 6.500 KRifigg 21 SS@
it
— By 1)
wET | F 5




g 13 5
5 E R TR 10 m2 Y — I K fli =*
g4 4 ) ® B & % =2 B i & %8 i %
i R E AR A3FHY L 0.500 KRifigg 21 SS@
it
— B4
wET | F 5




g 14 5
YYD BARR ERA #[EY 30cmR i 10 & &55Y — 1 K fi *
g4 4 ) % B | % = B i & %8 i %
§5 R E B R NZWER-] L 1.200 Kifigsg 22 S8
it
—Hif 4y
MiET |8 5




g 15 5
YYD BARR E£ARB #MEY 30cmLl L 10 & &55Y — 1 K fi *
g4 4 ) % B | % = B i & %8 i %
§5 R E B R NZWER-] L 6.500 Kifigsg 22 S8
it
— B4
MiET |8 5




8 16 &
EERE &3 1000 ng ZHY — f1 K fi *
G #R ) B I =3 B i £ £ i =
BEXE A
nor&E EBE ke 16.800 0.014kg/n2 x 100n2 x £E12[H]
&t
—HMHY

HiET 16

W
Jjn




g 11 5
BEIERER T #IET 10 % &Y — 8 K i &
g4 4 ) % B | % = B i & %8 i %
BEIEtER T FIET 2 0.040 Kifiss 23 SSH@
&t
— B4
MiET |8 =)




g 18 5
BEIEHES T Y W) 10 % &Y — 8 K i &
% i 5i) ® B & % =2 B fif & 8 i 3
BEIEtER T ET WY, n? 0.140 KRifissg 24 S8
it
— By 1)
wET | F 5




g 19 5
SEKk#t AR 10 & &Y — I K fli =*
% F5 373 iy B 1| % B B i & i) i
BEXE A
it
— B4
W™ |5 =




g 20 5
v E 2t 10 & &Y — i K fi *
% i 5i) ® B & % =2 B fif & 8 i 3
799 TR EHE SR B RffizE 27 BSHE
it
—Higy
wET | F 5




£ 21 B

i R E AR A3FHY 1000 L &Y — f1 K fli X

g4 4 ) % B Of = B i & %8 i %
EET
TEEES
B3 AIFFVREISE 1,000f5H R L 0.100
b597 LA EHEE U KR 26 SR
EME EEREQORMERVIER { 1.000

&t
—Hif 4y
wMiETR |85 21 B




i R E AR NZWER-] 1000 L &Y — f1 K fli X

g4 4 ) % B Of = B i & %8 i %
EET
TEEES
B3 o vELE 2,00065 %R L 0.050
b597 LA EHEE U KR 26 SR
EME EEREQORMERVIER { 1.000

&t
—Hif 4y
MiEm (2 22 0§




£ 23 B

BEIEtER T FIET 1000 m2 Y — & K i X
g4 4 ) B | % = B i & %8 i %

EET A

TEEES A

¥IET 3.55 8k 25%k/nP #% 2,500.000

i A 2 1.000

&t
—Hif 4y
MiEm (£ 28 0§




£ 24 B

BEIEtER T ET WY 1000 m2 Y — & K i X
g4 4 ) By = B i & %8 i %

EET A

TEEES A

ET WY 3558k THE/nR #% 700.000

o B =X 1.000

&t
—Hif 4y
MiET |85 24 B




g 25 5
B4 NN AR Z - NIE7 7em 1.0 fi K i =

% FR ) % = &
T AR—AgtHEER A
el ES] A
TEEES A
WY, L¥ 27— 11.000
=L NMD AN - Z - MIE77cm
BEE DHERE 1.000

&t
— By

Jjn

#




B 2% 5
b7v9 TR -REEE2E 10 B &Y — 8 K i &

g4 4 ) % B | % = B i & %8 i
—REERF A
L2 9: 1.2%5 (ELRA) L 25.000
b597 LA EHEE U #AA
i A 2 1.000

&t
—Hif 4y
MiET |8 =)




g 21 B
VY] TR -REEE2E 10 B &Y — 8 K i =

% i 5i) B fI =2 B fif & 8 i 3
—REERF A

L2 9: 1.2%5 (ELRA) L 4.200

299 TR -EHE SR B ]

it
— B4
wMiETR |85 21 B




